Two Sudoku Rules in Conjunctive Normal Form
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This document presents the model of two rules of the Sudoku puzzle in CNF,
first in a compact, semi-expandaded, and fully expanded manner.

Rule: Every number is in every row
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(p(1,1,1) vp(1,2,1) vp(1,3,1) Vp(1,4,1) Vp(1,5,1) Vp(1,6,1) Vp(1,7,1) Vp(1,8,1) V p(1,9,1))
Ap(1,1,2) v p(1,2,2) vV p(1,3,2) V p(1,4,2) V p(1,5,2) V p(1,6,2) Vp(1,7,2) Vp(1,8,2) Vp(1,9,2))

Ap(1,1,3) vV p(1,2,3) vV p(1,3,3) Vp(1,4,3) Vp(1,5,3) Vp(1,6,3) Vp(1,7,3) Vp(1,8,3) vVp(1,9,3))

A(p(1,1,4) vV p(1,2,4) Vp(1,3,4) v p(1,4,4) Vp(1,5,4) V p(1,6,4) vV p(1,7,4) Vp(1,8,4) V p(1,9,4))

A(p(1,1,5) v p(1,2,5) vV p(1,3,5) V p(1,4,5) vV p(1,5,5) V p(1,6,5) V p(1,7,5) V p(1,8,5) Vp(1,9,5))

A(p(1,1,6) vV p(1,2,6) v p(1,3,6) V p(1,4,6) V p(1,5,6) V p(1,6,6) V p(1,7,6) V p(1,8,6) vV p(1,9,6))

Ap(1,1,7) vV p(1,2,7) Vp(1,3,7) V p(1,4,7) Vp(1,5,7) V p(1,6,7) Vp(1,7,7) V p(1,8,7) V p(1,9,7))

Ap(1,1,8) vV p(1,2,8) Vp(1,3,8) v p(1,4,8) Vp(L,5,8) Vp(1,6,8) Vp(1,7,8) Vp(L,8,8) Vp(1,9,8))

Ap(1,1,9) v p(1,2,9) vV p(1,3,9) V p(1,4,9) V p(1,5,9) V p(1,6,9) V p(1,7,9) Vp(1,8,9) Vp(1,9,9))

Ap(2,1,1) vV p(2,2,1) vV p(2,3,1) Vp(2,4,1) Vp(2,51) Vp(2,6,1) Vp(2,7,1) Vp(2,8,1) Vp(29,1))

AP(2,1,2) Vp(2,2,2) Vp(2,3,2) Vp(2,4,2) Vp(2,5,2) Vp(2,6,2) V p(2,7,2) Vp(2,8,2) Vp(2,9,2))

APp(2,1,3) Vp(2,2,3) Vp(2,3,3) V p(2,4,3) Vp(2,5,3) Vp(2,6,3) V p(2,7,3) V p(2,8,3) Vp(2,9,3))

AP(2,1,4) Vp(2,2,4) Vp(2,3,4) V p(2,4,4) Vp(2,5,4) Vp(2,6,4) V p(2,7,4) V p(2,8,4) Vp(2,9,4))

Ap(2,1,5) vV p(2,2,5) V p(2,3,5) V p(2,4,5) V p(2,5,5) V26,5 Vp275) Vp28,5) Vp2,9,5))

A(p(2,1,6) V p(2,2,6) V p(2,3,6) V p(2,4,6) V p(2,5,6) V p(2,6,6) V p(2,7,6) V p(2,8,6) V p(2,9,6))

Ap(2,1,7) vV p(2,2,7)Vp(2,3,7) Vp(2,4,7) V(2,57 Vp26,7) Vp(2,7,7) Vp(2,8,7) Vp(2,9,7))

Ap(2,1,8) vV p(2,2,8) vV p(2,3,8) Vp(2438)Vp25,8)Vp(26,8) Vp(278) Vvp2,8,8) Vp2,9,8))

Ap(2,1,9) vV p(2,2,9) Vp(2,3,9) Vp(2,4,9) Vp(2,5,9) Vp(2,6,9) Vp(2,7,9) Vp(2,89) Vp(29,9)

A(p(3,1,1) Vp(3,2,1) Vp(3,3,1) v p(3,4,1) Vp(3,5,1) Vp(3,6,1) Vp(3,7,1) Vp(3,8,1) vV p(3,9,1))

A(p(3,1,2) vV p(3,2,2) vV p(3,3,2) V p(3,4,2) V p(3,5,2) Vp(3,6,2) Vp(3,7,2) Vp(3,8,2) Vp(3,9,2))

A(p(3,1,3) vV p(3,2,3) vV p(3,3,3) Vp(3,4,3) vV p(3,53) Vp(3,6,3) Vp(3,7,3) Vp(3,8,3) Vp(3,9,3))

Ap(3,1,4) vV p(3,2,4) vV p(3,3,4) Vp(3,4,4) Vp(3,5,4) Vp(3,6,4) Vp(3,7,4) Vp(3,8,4) Vp(3,9,4))

Ap(3,1,5) vV p(3,2,5) Vp(3,3,5) Vp(3,4,5) Vp(3,5,5) Vp(3,6,5) Vp(3,7,5) Vp(3,8,5) Vp(3,9,5))

A(p(3,1,6) vV p(3,2,6) V p(3,3,6) V p(3,4,6) V p(3,5,6) Vp(3,6,6) Vp(3,7,6) Vp(3,8,6) Vp(3,9,6))

Ap(3,1,7) vV p(3,2,7) Vp(3,3,7) Vp(3,4,7) Vp(3,57) Vp(3,6,7) Vp(3,7,7) Vp(3,8,7) Vp(3,9,7))

Ap(3,1,8) vV p(3,2,8) Vp(3,3,8) Vp(3,4,8) Vp(3,58) Vp(3,6,8) Vp(3,7,8) Vp(3,8,8) Vp(3,9,8))

A(p(3,1,9) vV p(3,2,9) vV p(3,3,9) V p(3,4,9) V p(3,5,9) Vp(3,6,9) Vp(3,7,9) Vp(3,8,9) Vp(3,9,9))

Ap(4,1,1) Vp(4,2,1) Vp(4,3,1) V p(4,4,1) Vp(4,5,1) Vp(4,6,1) V p(4,7,1) vV p(4,8,1) Vp(4,9,1))

ANp(4,1,2) V p(4,2,2) V p(4,3,2) V p(4,4,2) V p(4,5,2) V p(4,6,2) Vp(4,7,2) Vp(4,8,2) Vp(4,9,2))

A(p(4,1,3) V p(4,2,3) V p(4,3,3) Vp(4,4,3) Vp(4,5,3) V p(4,6,3) V p(4,7,3) Vp(4,8,3) Vp(4,9,3))

Ap(4,1,4) V p(4,2,4) V p(4,3,4) V p(4,4,4) V p(4,5,4) V p(4,6,4) Vp(4,7,4) Vp(4,8,4) Vp(4,9,4))

A(p(4,1,5) V p(4,2,5) V p(4,3,5) V p(4,4,5) V p(4,5,5) V p(4,6,5) Vp(4,7,5) Vp(4,8,5) Vp(4,9,5))

A(p(4,1,6) V p(4,2,6) V p(4,3,6) V p(4,4,6) V p(4,5,6) V p(4,6,6) V p(4,7,6) V p(4,8,6) V p(4,9,6))

AP(4,1,7) vV p(4,2,7) Vv p(4,3,7) V p(4,4,7) V p(4,5,7) V p(4,6,7) V p(4,7,7) V p(4,8,7) V p(4,9,7))

A(p(4,1,8) V p(4,2,8) V p(4,3,8) V p(4,4,8) V p(4,5,8) Vp(4,6,8) Vp(4,7,8) Vp(4,8,8) Vp4,9,8))

Ap(4,1,9) V p(4,2,9) V p(4,3,9) V p(4,4,9) V p(4,5,9) V p(4,6,9) Vp(4,7,9) Vp(4,8,9) Vp(4,9,9))
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Ap(9,1,1) Vp(9,2,1) Vp(9,3,1) v p(9,4,1) Vp(9,5,1) Vp(9,6,1) vV p(9,7,1) Vp(9,8,1) vV p(9,9,1))

APp(9,1,2) vV p(9,2,2) vV p(9,3,2) V p(9,4,2) V p(9,5,2) Vp(9,6,2) Vp(9,7,2) Vp(9,8,2) Vp(9,9,2))

A(p(9,1,3) vV p(9,2,3) vV p(9,3,3) vV p(9,4,3) V p(9,5,3) Vp(9,6,3) Vp(9,7,3) Vp(9,8,3) Vp(9,9,3))

AP(9,1,4) V p(9,2,4) V p(9,3,4) V p(9,4,4) Vp(9,5,4) Vp(9,6,4) vV p(9,7,4) Vp(9,8,4) Vp(9,9,4))

AP(9,1,5) Vp(9,2,5) V p(9,3,5) vV p(9,4,5) V p(9,5,5) V p(9,6,5) V p(9,7,5) V p(9,8,5) V p(9,9,5))

A(p(9,1,6) V p(9,2,6) V p(9,3,6) V p(9,4,6) V p(9,5,6) Vp(9,6,6) Vp(9,7,6) Vp(9,8,6) Vp(9,9,6))

Ap(9,1,7) vV p(9,2,7) vV p(9,3,7) V p(9,4,7) V p(9,5,7) Vp(9,6,7) Vp(9,7,7) Vp(9,8,7) Vp(9,9,7))

AP(9,1,8) vV p(9,2,8) Vp(9,3,8) Vp(9,4,8) Vp(9,5,8) Vp(9,6,8) Vp(9,7,8) Vp(9,8,8) Vp(9,9,8))

AP(9,1,9) vV p(9,2,9) vV p(9,3,9) V p(9,4,9) V p(9,5,9) Vp(9,6,9) Vp(9,7,9) Vp(9,8,9) Vp(9,9,9))



Rule: Every cell must take a number in {1,2,...,9}

Z\l ,/i\l \i/lp(i,j, n)= (p(1,1,1)Vp(1,1,2)v...Vp(1,1,9))
J (p(1,2,1) vp(1,2,2) V...V p(1,2,9))
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A
(p(i,5,1) Vp(i,7,2) V... Vp(i,j,9) A
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(p(9,9,1) V p(9,9.2) V...V p(9,9,9))
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(p(1,1,1) vp(1,1,2) vp(1,1,3) Vp(1,1,4) Vp(1,1,5) Vp(1,1,6) Vp(1,1,7) V p(1,1,8) V p(1,1,9))

Ap(1,2,1) v p(1,2,2) vV p(1,2,3) vV p(1,2,4) V p(1,2,5) V p(1,2,6) Vp(1,2,7) Vp(1,2,8) Vp(1,2,9))

%

Ap(1,3,1) v p(1,3,2) vV p(1,3,3) Vp(1,3,4) Vp(1,3,5) Vp(1,3,6) Vp(1,3,7) Vp(L,3,8) vVp(1,3,9))

A(p(1,4,1) Vp(1,4,2) Vp(1,4,3) v p(1,4,4) Vp(1,4,5) V p(1,4,6) V p(1,4,7) Vp(1,4,8) V p(1,4,9))

A(p(1,5,1) v p(1,5,2) vV p(1,5,3) V p(1,5,4) V p(1,5,5) V p(1,5,6) V p(1,5,7) V p(1,5,8) Vp(1,5,9))

A(p(1,6,1) v p(1,6,2) vV p(1,6,3) V p(1,6,4) V p(1,6,5) V p(1,6,6) V p(1,6,7) V p(1,6,8) vV p(1,6,9))

Ap(1,7,1) vV p(1,7,2) Vp(1,7,3) Vp(1,7,4) V p(1,7,5) V p(1,7,6) V p(1,7,7) V p(1,7,8) V p(1,7,9))

Ap(1,8,1) v p(1,8,2) Vp(1,8,3) Vp(1,8,4) vV p(L,8,5) Vp(1,8,6) Vp(1,8,7) Vp(lL,8,8) vVp(l,8,9))

A(p(1,9,1) v p(1,9,2) vV p(1,9,3) vV p(1,9,4) V p(1,9,5) V p(1,9,6) V p(1,9,7) Vp(1,9,8) Vp(1,9,9))

Ap(2,1,1) v p(2,1,2) Vp(2,1,3) Vp(2,1,4) Vp(2,1,5) Vp(2,1,6) Vp(2,1,7) Vp(2,1,8) Vp(2,1,9))

AP(2,2,1) Vp(2,2,2) Vp(2,2,3) Vp(2,2,4) Vp(2,2,5) V p(2,2,6) V p(2,2,7) V(2,2,8) Vp(2,2,9))

APp(2,3,1) Vp(2,3,2) Vp(2,3,3) V p(2,3,4) Vp(2,3,5) Vp(2,3,6) V p(2,3,7) V p(2,3,8) Vp(2,3,9))

APp(2,4,1) Vp(2,4,2) Vp(2,4,3) V p(2,4,4) Vp(2,4,5) Vp(2,4,6) V p(2,4,7) V p(2,4,8) Vp(2,4,9))

A(p(2,5,1) vV p(2,5,2) V p(2,5,3) V p(2,5,4) Vp(2,55)Vp256)Vp257) Vp258) Vp2,5,9)

/\(p(Qa 67 1) \/p(27 6a 2) Vp(2a 673> \/p(276a4) \/p(2, 6; 5) \/p(2,6, 6) \/p(2, 6a 7) \/p(2,67 8) Vp(2, 67 9))

Ap(2,7,1) vV p(2,7,2) Vp(2,7,3) vV p(2,7,4) vV p(2,7,5) Vp(2,7,6) Vp(2,7,7) Vp(2,7,8) Vp(2,7,9))

Ap(2,8,1) vV p(2,8,2) vV p(2,8,3)Vp(238,4)Vp2.38,5) Vp2.38,6)Vp238,7) Vp28,8) vp2,8,9)

Ap(2,9,1) vV p(2,9,2) Vp(2,9,3) Vp(2,9,4) Vp(2,9,5) Vp(2,9,6) Vp(2,9,7) Vp(2,9,8) Vp(2,9,9))

A(p(3,1,1) Vp(3,1,2) Vp(3,1,3) v p(3,1,4) Vp(3,1,5) V p(3,1,6) Vp(3,1,7) Vp(3,1,8) V p(3,1,9))

Ap(3,2,1) vV p(3,2,2) vV p(3,2,3) V p(3,2,4) Vp(3,2,5) Vp(3,2,6) Vp(3,2,7) Vp(3,2,8) Vp(3,2,9))

A(p(3,3,1) vV p(3,3,2) Vp(3,3,3) vV p(3,3,4) Vp(3,3,5) Vp(3,3,6) Vp(3,3,7) Vp(3,3,8) Vp(3,3,9))

Ap(3,4,1) vV p(3,4,2) Vp(3,4,3) Vp(3,4,4) Vp(3,4,5) Vp(3,4,6) Vp(3,4,7) V p(3,4,8) V p(3,4,9))

Ap(3,5,1) vV p(3,5,2) Vp(3,5,3) Vp(3,5,4) Vp(3,5,5) Vp(3,5,6) V(3,57 Vp(3,58) Vp(3,5,9))

A(p(3,6,1) vV p(3,6,2) V p(3,6,3) V p(3,6,4) V p(3,6,5) V p(3,6,6) Vp(3,6,7) Vp(3,6,8) Vp(3,6,9))

Ap(3,7,1) vV p(3,7,2) Vp(3,7,3) V p(3,7,4) V p(3,7,5) Vp(3,7,6) Vp(3,7,7) Vp(3,7,8) Vp(3,7,9))

Ap(3,8,1) Vp(3,8,2) Vp(3,8,3) Vp(3,8,4) Vp(3,8,5) Vp(3,86) Vp(3,8,7) Vp(3,88) Vp(3,8,9))

A(p(3,9,1) vV p(3,9,2) vV p(3,9,3) V p(3,9,4) vV p(3,9,5) Vp(3,9,6) Vp(3,9,7) Vp(3,9,8) Vp(3,9,9))

Ap(4,1,1) Vp(4,1,2) Vp(4,1,3) V p(4,1,4) Vp(4,1,5) Vp(4,1,6) V p(4,1,7) V p(4,1,8) Vp(4,1,9))

ANp(4,2,1) V p(4,2,2) V p(4,2,3) V p(4,2,4) V p(4,2,5) V p(4,2,6) Vp(4,2,7) Vp(4,2,8) Vp(4,2,9))

A(p(4,3,1) Vv p(4,3,2) Vp(4,3,3) Vp(4,3,4) Vp(4,3,5) V p(4,3,6) V p(4,3,7) Vp(4,3,8) Vp(4,3,9))

A(p(4,4,1) V p(4,4,2) V p(4,4,3) V p(4,4,4) V p(4,4,5) V p(4,4,6) Vp(4,4,7) Vp(4,4,8) Vp(4,4,9))

A(p(4,5,1) V p(4,5,2) V p(4,5,3) V p(4,5,4) V p(4,5,5) V p(4,5,6) V p(4,5,7) Vp(4,5,8) Vp(4,5,9))

A(p(4,6,1) V p(4,6,2) V p(4,6,3) V p(4,6,4) Vp(4,6,5) V p(4,6,6) V p(4,6,7) V p(4,6,8) V p(4,6,9))

ANp(4,7, 1)V p(4,7,2) Vp(4,7,3) Vp(4,7,4) Vp(4,7,5) V p(4,7,6) V p(4,7,7) V p(4,7,8) V p(4,7,9))

A(p(4,8,1) vV p(4,8,2) vV p(4,8,3) V p(4,8,4) V p(4,8,5) Vp(4,8,6)Vp(438,7) Vp(4,8,8) vVp4,8,9))

Ap(4,9,1) vV p(4,9,2) V p(4,9,3) V p(4,9,4) V p(4,9,5) V p(4,9,6) Vp(4,9,7) Vp(4,9,8) Vp(4,9,9))



A(p(5,1,1) Vp(5,1,2) Vp(5,1,3) v p(5,1,4) V p(5,1,5) V p(5,1,6) V p(5,1,7) Vp(5,1,8) V p(5,1,9))

A(p(5,2,1) vV p(5,2,2) vV p(5,2,3) V p(5,2,4) V p(5,2,5) Vp(5,2,6) Vp(52,7) Vp(5,2,8) vVp(52,9))

A(p(5,3,1) vV p(5,3,2) V p(5,3,3) V p(5,3,4) V p(5,3,5) Vp(5,3,6) Vp(5,3,7) Vp(5,3,8) Vp(5,3,9))

A(p(5,4,1) V p(5,4,2) Vp(5,4,3) vV p(5,4,4) Vp(5,4,5) V p(5,4,6) V p(5,4,7) Vp(5,4,8) V p(5,4,9))

A(p(5,5,1) V p(5,5,2) V p(5,5,3) Vp(5,5,4) V p(5,5,5) V p(5,5,6) V p(5,5,7) V p(5,5,8) V p(5,5,9))

A(p(5,6,1) vV p(5,6,2) V p(5,6,3) V p(5,6,4) V p(5,6,5) V p(5,6,6) V p(5,6,7) V p(5,6,8) Vp(5,6,9))

Ap(5,7,1) vV p(5,7,2) V p(5,7,3) V p(5,7,4) V p(5,7,5) V p(5,7,6) V p(5,7,7) Vp(5,7,8) Vp(5,7,9))

Ap(5,8,1) vV p(5,8,2) Vp(5,8,3) Vp(5,8,4) Vp(58,5) Vp(58,6) Vp(58,7) Vp(5,88) Vp(58,9))

A(p(5,9,1) vV p(5,9,2) vV p(5,9,3) V p(5,9,4) V p(5,9,5) Vp(59,6) Vp(59,7) Vp(5,9,8) Vp(59,9))

A(p(6,1,1) vV p(6,1,2) vV p(6,1,3) V p(6,1,4) V p(6,1,5) V p(6,1,6) V p(6,1,7) Vp(6,1,8) Vp(6,1,9))

A(p(6,2,1) V p(6,2,2) V p(6,2,3) V p(6,2,4) V p(6,2,5) V p(6,2,6) Vp(6,2,7) Vp(6,2,8) Vp(6,2,9))

A(p(6,3,1) V p(6,3,2) Vp(6,3,3) v p(6,3,4) Vp(6,3,5) V p(6,3,6) V p(6,3,7) Vp(6,3,8) V p(6,3,9))

A(p(6,4,1) V p(6,4,2) V p(6,4,3) V p(6,4,4) V p(6,4,5) V p(6,4,6) V p(6,4,7) V p(6,4,8) vV p(6,4,9))

A(p(6,5,1) V p(6,5,2) V p(6,5,3) V p(6,5,4) V p(6,5,5) V p(6,5,6) V p(6,5,7) Vp(6,5,8) Vp(6,5,9))

A(p(6,6,1) V p(6,6,2) V p(6,6,3) V p(6,6,4) V p(6,6,5) V p(6,6,6) V p(6,6,7) V p(6,6,8) V p(6,6,9))

Ap(6,7,1) VvV p(6,7,2) Vp(6,7,3) Vp(6,7,4) Vp(6,7,5) Vp(6,7,6) V p(6,7,7) V p(6,7,8) Vp(6,7,9))

A (p(6,8,1) vV p(6,8,2) V p(6,8,3) V p(6,8,4) vV p(6,8,5) V p(6,8,6) Vp(6,8,7) Vp(6,8,8) Vp(6,8,9))

A(p(6,9,1) vV p(6,9,2) V p(6,9,3) V p(6,9,4) V p(6,9,5) V p(6,9,6) Vp(6,9,7) Vp(6,9,8) Vp(6,9,9))

Ap(7,1L,1) Vp(7,1,2) vV p(7,1,3) vV p(7,1,4) Vp(7,1,5) V p(7,1,6) V p(7,1,7) V p(7,1,8) V p(7,1,9))

Ap(7,2,1) vV p(7,2,2) vV p(7,2,3) V p(7,2,4) V p(7,2,5) V p(7,2,6) Vp(7,2,7) Vp(7,2,8) Vp(7,2,9))

Ap(7,3,1) vV p(7,3,2) vV p(7,3,3) vV p(7,3,4) vV p(7,3,5) Vp(7,3,6) Vp(7,3,7) Vp(7,3,8) Vp(7,3,9))

ANp(7,4,1) vV p(7,4,2) V p(7,4,3) V p(7,4,4) V p(7,4,5) V p(7,4,6) V p(7,4,7) Vp(7,4,8) V p(7,4,9))

Ap(7,5,1) vV p(7,5,2) V p(7,5,3) Vp(7,5,4) V p(7,5,5) V p(7,5,6) V p(7,5,7) V p(7,5,8) V p(7,5,9))

A(p(7,6,1) vV p(7,6,2) V p(7,6,3) V p(7,6,4) V p(7,6,5) V p(7,6,6) V p(7,6,7) Vp(7,6,8) Vp(7,6,9))

ANp(7,7,1) vV p(7,7,2) vV p(7,7,3) V p(7,7,4) V p(7,7,5) V p(7,7,6) vV p(7,7,7) vV p(7,7,8) Vp(7,7,9))

Ap(7,8,1) vV p(7,8,2) vV p(7,8,3) vV p(7,8,4) VvV p(7,8,5) Vp(7,8,6) Vp(7,8,7) Vp(7,8,8) Vp(7,8,9))

Ap(7,9,1) vV p(7,9,2) Vp(7,9,3) Vp(7,9,4) Vp(7,9,5) V p(7,9,6) vV p(7,9,7) V p(7,9,8) V p(7,9,9))

Ap(8,1,1) v p(8,1,2) vV p(8,1,3) vV p(8,1,4) vV p(8,1,5)Vp8,1,6)Vp81,7) vVp(8,1,8) vp(8,1,9))

Ap(8,2,1) vV p(8,2,2) vV p(8,2,3) Vp(82,4) Vp(8,2,5) Vp(8,2,6)Vp(8,27) Vp(8,2,8) Vp(8,2,9))

A(p(8,3,1) Vp(8,3,2) Vp(8,3,3) Vp(8,3,4) Vp(8,3,5)Vp(8,3,6)Vp(8 3,7 Vp(8,3,8)Vp8,3,9))

Ap(8,4,1) V p(8,4,2) Vp(8,4,3) Vp(8,4,4) Vp(8,4,5) Vp(8,4,6) Vp(8,4,7)Vp(8,4,8) Vp(8,4,9))

A(p(8,5,1) vV p(8,5,2) vV p(8,5,3) vV p(8,5,4)Vp(8,55)Vp8,56)Vp8,57) Vp8,58) Vp(8,5,9))

A(p(8,6,1) vV p(8,6,2) vV p(8,6,3) V p(8,6,4) Vp(8,6,5) Vp(8,6,6)Vp8,67) Vp8,6,8) Vp(8,6,9))

Ap(8,7,1) Vp(8,7,2) Vp(8,7,3) Vp(8,7,4) Vp(8,7,5) Vp(8,7,6) V p(8,7,7) Vp(8,7,8) Vp(8,7,9))

A(p(8,8,1) V p(8,8,2) Vp(8,8,3) Vp(8,8,4) Vp(8,8,5) Vp(8,8,6) Vp(838,7) Vp(8,8,8) Vp(8,8,9))

AP(8,9,1) vV p(8,9,2) vV p(8,9,3) vV p(8,9,4) V(89,5 Vp(8,9,6)Vp(8,9,7) Vp(8,9,8) Vp(8,9,9))



D) Vvp(9,1,2) Vp(9,1,3) Vp(9,1,4) Vp(9,1,5) V p(9,1,6) Vp(9,1,7) V p(9,1,8) Vp(9,1,9))
1)V p(9,2,2) Vp(9,2,3) V p(9,2,4) V p(9,2,5) V p(9,2,6) V p(9,2,7) V p(9,2,8) V p(9,2,9))
1)V p(9,3,2) V p(9,3,3) V p(9,3,4) V p(9,3,5) V p(9,3,6) V p(9,3,7) V p(9,3,8) V p(9,3,9))

y 1) Vp(9,4,2) vV p(9,4,3) vV p(9,4,4) V p(9,4,5) \/p(9 4,6)V p(9,4,7) vV p(9,4,8) Vp(9,4,9))
5,1)vp(9,5,2) Vp(9,5,3) Vp(9,54)Vp(9,55)Vp9,56)Vp9,57) Vp9,58)Vp9,59))
1)V p(9,6,2) V p(9,6,3) V p(9,6,4) V p(9, 6, 5) \/p(9 6 6) V p(9,6,7) V p(9,6,8) V p(9,6,9))
1)V p(9,7,2) Vp(9,7,3) V p(9,7,4) V p(9,7,5) V p(9,7,6) V p(9,7,7) V p(9,7,8) V p(9,7,9))
1) \/p(9 8,2) V p(9,8,3) V p(9,8,4) V p(9, s, 5) V p(9,8,6) V p(9,8,7) V p(9,8,8) V p(9,8,9))
, 1)V p(9,9,2) Vp(9,9,3) Vp(9,9,4) Vp(9,9,5) Vp(9,9,6) V p(9,9,7) Vp(9,9,8) Vp(9,9,9))



